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1581) —4 FEEFEATTCRIETIEET HANHOSBENF—L No. 1
wl 8 |ma| 57| s ik by = wE
(v F) R—L(H) 77z—(A)| FE | AIE
17:30 |ZA>T4F7FC|vs| DEHEPFC | A2 X | LY A%y
1| 4H288 | B | NFCA) | 1840 [RE)IL=—T1st|vs| JERHAS |7007¢7 | DEHP
19:50 ONZE vs| REGISTAN | AEL1 | AAS
17.30 | EFHST |vs|rB—vhThrc| $uavh | AEL2
2| 4830H | % | NFC(A) | 18:40 | REGISTAN |vs| #FEEFC EFY | BT
() 19:50 Cinquante |vs|AEJLIS—T2nd| LY 24V | ETEFC
17:30 ONZE vs| #EFC AtN2 | DEHEP
3| 5H12H | H | NFC(B) | 18:40 | EFHU37T |vs|RENLZ—T1st| A2 X | FHEFC
19:50 |REJLE—D2nd|vs| DEHAPFC | E£F4 | AL
17:30 | DEHEPFC |vs|zx#—vsmdnrc| AAS | #uhvb
4| 58258 | £ | NFC(B) | 18:40 |ZAVT«7FC|vs|REJILZ—T1st| DEHAP | HTH TERF4/4
19:50 TIRAAS |vs| Cinquante |7A0747| AE L1
17:30 | DEHEPFC |vs| EFH3T | vt | #0X
5| 6A1H + | NFCB) | 18:40 |REJL=—=2nd|vs| HEFC |DEHEP| EF4H HERE4/4
19:50 | Cinquante |vs ONZE AEW2 | FREFC
17:30 ONZE vs| IRIRAAS | AEW1 | FHEFC
6| 78158 | B | NFC(A) | 18:40 | REGISTAN |vs| EFH5T | #A0X | A4S
(%) 19:50 |REJLS—T1st|vs| HEFC LRy | EFH
17:30 | REGISTAN |vs|REJILS—I1st| HEFC | 700747
7| 8H4H H NFC(B) | 18:40 Cinquante |vs|zx®R—v&HImrFc| LY 240 | AE L1
19:50 ¥TEFC  |vs|ZB>T4FFC| HUhvh | HIH
17:30 Cinquante |vs|AEJILZ—T1st| DEHEP| A4S
8| 981480 | £ | NFC(B) | 18:40 ONZE vs| 7O TAFFC| $uhuh | AL
19:50 | DEHEPFC |vs| RIRAAS | A2 X | 700747
17:30 |xF—vH¥mFc|vs| REGISTAN | #>X | DEHP
9| 9A21H | £ | NFC(B) | 18:40 |REJS—T2nd|vs|TZAVTFTATFC| HTH | LY R4y
19:50 ONZE vs| DEHEPFC | AE'N2 | 78747
17:30 | REJLE—2nd|vs ONZE HAZ | HIH
10 9A238 | A | NFC(B) | 1840 | RRHAS |vs|rE—vdHIHFC| ALN2 | X
(%) 19:50 vs Tl
17:30 |ZA>F4FFC|vs| REGISTAN | AE'L1 | AE'L2
11| 10A68 | B | NFC(A) | 1840 | EFH5T |vs ONZE TAVTAT | LY RGY HEfRF4/25
19:50 |REJLE—T1st|vs|REILZS—T2nd| EFY | #0X
17:30 Cinquante |vs| EFH3T | AtW1 |DEHEAP
12| 108208 | B NFC(A) | 18:40 |REJ=—T1st|vs| DEEPFC | $uhvh | EFH
19:50 vs Tl
17:30 #IEFC vs| Cinquante | LY R4V | HAS
13 11A38 | B | NFC(A) | 18:40 |=xK—vsHdnrc|vs|REILI—T2nd| FIEFC | HUhvb
() 19:50 | REGISTAN |vs| IRIRAAS | 9 h | ALW2
17:30 HEFC |vs| DEHEPFC | AE°L2 | LY R4y
14| 11A178 | B | NFC(A) | 1840 | RRAAS |vs| EFHVST | #EFC|DEHEP
19:50 |REJLS—=2nd|vs| REGISTAN | HAS5 | EF4H
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17:30 REGISTAN |vs| Cinquante |700747| £F2
15| 118238 | £ | NFC(B) | 18:40 |RHKE—v&HTHFC|vs ONZE LY R4y | $#uhvbk R F4/25
() 19:50 |ZA>T4FFClvs| EFHST | bIH | #X

17:30 | EFH5T |vs|RENLZ—T2nd| HTH | 700747
16| 11HA308 | = | NFC(A) | 1840 #EFC vs| IRIRAAS | £FH | AEW2 fE{Ri%K4/25
19:50 |RB—vHTHFC|vs| 7OV TFAFFC| FTEFC| HAS

17:30 | REJLS—T1st|vs ONZE 00747 | $Uhvk
17| 12818 =] NFC(A) | 18:40 | DEHPFC |vs| REGISTAN | zEW1 | #2X fE{RFE4/25
19:50 |ZA>FT47FC|vs| Cinquante |DEHAP| LY A4y

17:30 TRAAS |vs|REILZ—T2nd| FHEFC | ST H
18| 1288H =] NFC(A) | 18:40 | DEHPFC |vs| Cinquante HAZ | A2 fE{Ri%K4/25
19:50 $HEFC vs| 2#FE—vHTmFC| DEEP | HUhvk

17:30 | ®RAAS |vs|zOrF47FC| £F2 | FHEFC
19] 128148 | £ | NFCA) | 18:40 |xKk—vsmdnrc|vs|REJLZ—T1st| HAS | 700747
1950 | EEH95T |vs #IEFC HIH | A1

17:30 vs
18:40 Vs
19:50 VS
17:30 Vs
18:40 Vs
19:50 Vs
17:30 vs
18:40 Vs
19:50 VS
17:30 Vs
18:40 Vs
19:50 vs
17:30 VS
18:40 vs
19:50 Vs
17:30 vs
18:40 Vs
19:50 vs
17:30 VS
18:40 vs

19:50 vs




